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SCHOLARS ACADEMY

[ REASONING ]

1. 39 WY $T 994 P Rred § 7 TEmd ve gy
¥ 3 YR Wil § e yor Fafafea wg a1
Tt e |
([re : Femeff $1 3P g il d fJuoa g
o= got Temsi wr wihart #) s arfde) g
¥ forg 13 - 13 W w@frad S 13 ¥ Se/g9ern/on
HIAT 31 fFam o FHar g1 13 B 1 3R 3 § dig
3R 7 1 3R 3 W nfdrdta wfhaTt w3 @t srgafa
TER)
(82, 41, 123)
(74, 37, 111)
Select the set in which the numbers are related in
the same way as are the numbers of the following
sets.
(NOTE: operations should be performed on the
whole numbers, without breaking down the
numbers into its constituent digits. E.g. 13 -
Operations on 13 such as
adding/deleting/multiplying etc. to 13 can be
performed. Breaking down 13 into 1 and 3 and then
performing mathematical operations on 1 and 3 is
not allowed)
(82, 41, 123)
(74, 37, 111)
a) (54,27, 84)
c) (56, 28, 84)

b) (46, 22, 84)
d) (22,12, 84)

2. frafafEa vy § 9R wrsg fiw e § o @ 99 feht
TPR ¥ JuF § R te fUg 31 a1 "uH
P
In the following question, four words have been
given of which three are alike in some way and one
is different. Choose the odd one out:

a) Captivate
c) Delight

3. U® fAif¥a ofs o 4 -
A 100 B T 31 § A, B &7 SIGI/AMT 81
A 200 B FT 3§ A, BF 984 B
A 300 BHT I T A BB THBI
A 400 BHT 3§ A, B! Uell 81
A500BHT 38 A BHTUA I
A600BHTATR A BFITERI
e G 100T300Q5002200P500V600U4OOG%,
at z, U A fF YR Hefta 82
In a certain code language -
A 100 B means A is the grandfather of B
A 200 B means A is the sister of B
A 300 B means A is the daughter of B
A 400 B means A is the wife of B
A 500 B means A is the husband of B
A 600 B means A is the daughter-in-law of B
If G100 T 300 Q 500 Z 200 P 500 V 600 U 400 G,
then how Z is related to U?

a) T4 Son b) HiSt/HdiS Niece

b) Repellent
d) Bewitch

c)

4.

a)

a)
c)

a)

c)

d)y FuiRa =7gY fosar S gt

%’ Cannot be determined

IR 3R g fou U €, Rrd & i feedt 7 fsedt
UPR A TP TUM & MR T fUd 31 Firey srer aug &1
TG B |

Four letter-cluster have been given, out of which
three are alike in some manner and one is different.
Select the letter-cluster that is different.

JKOU b) AEIO
SDAI d) XPEO

IR gui-agg fRr wu € e @ &9 Rl R @
UM § 3R T fUa 31 I 3H&R-THE BT T4 B &l
A 3l

Four letter-cluster have been given, out of which
three are alike in some manner and one is different.
Select the letter-cluster that is different.

RKO : UMP b) WTA:ZVB
MVZ : PXA d) LCI:ODJ

TR faw ¢ uy A v HyE/vy o A § Red arg

FY/99 | WA g aF 3T ¢ §1 39S A g e

faweal # 9 8 SW o1 994 Fifw)

FYF : HE[-IET TS § TAaR AP AT Pt

TSP W T & RIY # HaarR & ¢ gad! &I

RwR foar man

b :

I. SfadT U 1Y FRAR @ WM 3 oevd Hegd

HYd & TP TSP 3q Jferd T8I 81

I1. 19 9% {5 o DS dic 91 PIs urd 81 giaT, 99

% feral o gRAR @ & 3R # ARwR =81

frar s =nfe)

S AT Y Pl & | SH-H1/4 T UG 8/37

In the question given below, a statement/question

is given followed by two arguments related to the

statement/question. Choose the correct answer that

follows.

Statement: Two young men were arrested on

Tuesday for allegedly moving on streets of the city

with swords in separate incidents.

Arguments:

I. People feel the need to carry weapons with them

as the streets are not safe anymore.

Il. Unless somebody is hurt or injured, people

should not be arrested for carrying weapons.

Which of the above arguments is a/are strong

argument(s)?

FAA AH (1 YgA db § b) AA dH | IR A Th Il

Only argument Il is a Ugd db ©§  Neither

strong argument argument | nor argument
Il is a strong argument

PId dP | USd d% § d) db | 3R Il S U db

Only argument | is a g Both arguments | and

strong argument Il are strong arguments

QEﬂ Daughter
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SCHOLARS ACADEMY

7.

c)

a)

a)
c)

10.

T M e &1 wryde srwrga P iR 9w
BT PT 994 BT & 9ed & uy g () #)
wforefid o= &l 71

Study the given pattern carefully and select the
number that can replace the question mark (?) in it.

11179
172 |23

66 |17 | 126

22 b) 19

21 d) 18

I fawe i &1 au=1 Fiforg s €t 15 snpfa
siafifea §1 (qof Y argefar T )

Select the option figure in which the given figure is
embedded (rotation is NOT allowed)

4
)| 58| %) | 2R

&) an (1) (v)

| b) Il
i d) Iv

gdur #) TwfT 1T SgER ‘AR’ WR W W1 W € TS
Apfa Ft g9 arelt T gdur ufafamm &1 T
Biforg|

Select the correct mirror image of the given figure

when the mirror is placed at 'AB' as shown.
A

B

o
5
?;
~3
:
|
;!
:
8

TR WH R 38 2, @) PEfiidd § @ o sl &
21E 3R A I ®H WIS 82

Seven persons - Gita, Mita, Nita, Rita, Sita, Vita and
Zita sit around a circular table facing outside the
centre. Mita sits fourth to the left of Vita. Rita sits
third to the left of Sita. Vita sits adjacent to Rita and
Nita. Sita sits second to the right of Gita. Who
among the following sits third to the right of Zita?

a)

c)

11.

a)

c)

12.

a)

c)

13.

a)
c)

14.

a)

c)

15.

a)
c)

16.

a1 Nita
T Rita

b) dlel Vita
d) Feifa &t fovar o wwar

%’ Cannot be determined

feu e uy ¥ fr v gierur & Id A & o
=1 g1 gl ®1 3o § s ST a1t w?

In the given question, which two signs should be
interchanged to make the given equation correct?
7x8+5+72-9=53

+, - b) - x

+ - d) =+ x

fFrafaf@a geer # #9-91 e orma ”_A w®
ST

In the following series, which of the option comes
next?

5,7, 11,19, 35, .....
54 b) 60
67 d) 73

@ T sj@en F1 gw Ug Jiad s St () R B
AforTfId # TPa1 g

Find the missing term of the given series which can
replace the (?) sign.

KPXH, MRWM, PTVR, RVUW, ?

uxuc b) UYTD

UXTB d) UYuD

g "are you happy” B "tk dg Ip" ¥ w9 § Hifsa
forar wmar @, “they are here" Cg| "lp fj ws" F U H
Fifea farar Srar 2, @ "you™ BT HIs ®TR?

If "are you happy" is coded as "tk dg Ip", "they are

here" is coded as "lp fj ws", then what is the code
for "you"?

tk b) dg

Ip d) qQIdAMadb eitheraorb
T P AT srpfa A H i -

Three views of a cube are as given below :

Which number is opp05|te to face number 4?

4 T Bad & At o-@ gen a2
6 b) 3
5 d) 2

fafafaa <l & IS & HH | ogafkud
P

Arrange the following words as per order in the
dictionary.

1- Penalty

2- Penalize

3- Pendulum

4- Penultimate

5- Pencil
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SCHOLARS ACADEMY

a)
c)

17.

a)

18.

a)

c)

6- Penetrate
2,1,3,56,4 b) 2,1,53,6,4

2,1,563,4 d 21,53,46

ﬁn;rl%rl@a Uy H, $O HYAI BT FEU Hd gU¢ af
Wmleﬁ?u%qwélmﬁﬁwﬁaﬁu%

3R Fruifya #3 % iy e fFrewut § & #1931 fFrepd

HTHTG: 9 924 B S@agaT Hd §U ahad ©U

H T T HY=Y BT SR HRAT 8

PYA:

ot marks, rinks ?I

PO rinks, cows %'I

T cows, wallets gl

PO wallets, fruits Gl

e

I. PO rinks, wallets gl

1. S marks, cows%l

In the following question, some statements
followed by two conclusions numbered | and Il
Read all the conclusions and then decide which of
the given conclusions logically follows from the
given statements disregarding commonly known
facts.

Statements:

All marks are rinks.

Some rinks are cows.

All cows are wallets.

Some wallets are fruits.

Conclusions:

I. Some rinks are wallets.

Il. Some marks are cows.

Had By | WU b) Had FHY Il SIIRUI
FRaT ¢ Only Conclusion IRl g Only Conclusion
| follows. Il follows.

7 s | T 11 SRR d) A o A | iR A g

a3l Either ~ SFJERUI &Xd &1 Neither

Conclusion | or Il follows. Conclusion | nor I
follows.

e 7u fawen & @ HA-A npfa (@nefaal) w5
=it @ st &t € =fie &) @Al F 91y Hed F 916
TS o APt 2

Which among the given options shows the figure(s)
that can be formed after folding the given sheet
along the lines?

#
>|&]?]

|< @

((J
Hﬂ-ﬂ A B3R C Al A B b) HIdA OnlyA
and C

PHITAASMRC OnlyAand d) B

19.

a)

c)

20.

a)
c)

21.

c)

22.

C

TS A3 ®Is HTuT # MUMBAI &1 LVLAB) & &0 #
P fHar SITar 81 TH YY1 # KOLKATA &) frg
UPR Pifsd farar smem

In a certain code language, MUMBAI is coded as

LVLABJ. How will KOLKATA be coded in that
language?

JPKJBVB b) IPJIBRB

JPKJBSB d) IPIJRBR

gfe 27 30 2019 &) AFER T, @ 29 HS 2019 HI
PI-41 & U
If April 27, 2019 was a Saturday, then May 29, 2019
was which day?

RIPAR Friday b) HITAAR Tuesday
AR Thursday d) dUdR Wednesday
Frafafaa snefadl S & TF cos $ digH 1

FH 3R WIS T SRS I HIeA BT a8tbT GRTAT T
?1 3 fawe i &1 wu1 e Y &re & ga
§UEY & Fpean aex gt

The sequence of folding a piece of paper and the
manner in which the folded paper has been cut are
shown in the following figures. Select the option
figure that would most clearly resemble the
unfolded form of paper.

L]
+ .
1}0
o o
5,8 | [ &, %Ag
g% %g| [a% %a| |a® %2 (o %
(n (I1) (111) (v)
| b) IV
I d) 1

Bﬁﬁ answer, questlon q’eﬁ?-

It answers, olives
It bows, answers %

l. aﬁ‘é question, olive Hﬁ%

1. aﬁ‘é bow, question Hﬁ%

In the question given below, three statements are
given followed by conclusions: | and Il. Read the
conclusions and decide which of the given
conclusions logically follows from the given
statements disregarding commonly known facts.
Statements:

No answer is a question.

All answers are olives.
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Page 4




SCHOLARS ACADEMY

23.

a)

c)

24.

a)
c)

25.

a)
c)

All bows are answers.

Conclusions:

I. No question is an olive.

Il. No bow is a question.

| 3R Il GFI SFERUI FRA b) Had Il SR Fdl §
%Both | and Il follow Only 1l follows

bael | STERU BIAT § d) FTA | A I SFET B
Only | follows 8 Either | or Il follows

39 T TS FT TG99 Y o 3 Treg I ke @
wafta § o @ & 3 Fafafed o= gm &
(FHT 59 H) §1 YA : YHOT aeh $Tdwd = 2

Select the word pair in which the two words are
related in the same way as are the two words in the
following word pair (in the same order).

Travel : Itinerary :: ?

P . HAsk Work : b) faEmem . gHm  gRoh
Calendar School : Timetable
aq:ﬁﬁ Trains : Tickets d) RIGX: TR Town : Maps

XQY BTAEX, Y BTTA B

X * Y BT Hf X, Y BRI

X = V' BT 34 X, Y P I8

"X A Y BT A X, Y BT HTS B

X + V' BT X, Y BT a3

%ﬁaﬁrﬁaﬁﬁmaﬁuﬁﬁmﬁi'c, S F Uat
”

"X QY' means X is the son of Y.

X * Y' means X is the daughter of Y.

'X = Y' means X is the sister of Y.

"X A Y' means X is the brother of Y.

'X + Y' means X is the father of Y.

Which of the following would imply that 'C is the

wife of $'?

C*TAN+S

C=MQNA*S

b) S+R=TQC
d) SQT+U*C

39 98l fAepey &1 9uq Five ot Ry Uz &
aifde 3R iyl ww areft et Y gxifar 31
Select the correct option that indicates the
arrangement of the given words in the logical and
meaningful order.
1) Colonel

2) Captain

3) Major General
4) Brigadier

5) Major
3,1,4,5,2
3,4,51,2

b) 24,153
d) 3,4,1,52

[ GENERAL AWARENESS ]

26.

a)
c)

28.

a)

c)

29.

a)

c)

30.

a)

Ta Wpd e TR it Sl emaRw . w
freoTfea fam war

The Pala School of miniature paintings was
generally executed on ___.

TS Rocks b) Tgdl &t AR Walls of

palaces
d) gdl HUST Cotton cloth

a3t 2023 # HRWHA HwE Afga T4t 3 obi fivde
P 3fag™ # URd & J99 SR DFP o4 91
fAatgA s e Fdd g d 9d an
fris =t ais faa

In January 2023, Indian captain Rohit Sharma
shattered a long-standing record held by ____ to
become India's most prolific six-hitter in the history
of ODI cricket.

TH. Y. & MS Dhoni  b) favTe ®Igal! Virat Kohli

I dgadR  Sachin d) TRIIAT Suresh Raina

Tendulkar

IHTE/SAHR SHoil & day # Fafafea & 9§ o19-
| Y T 72

Which of the following statements is INCORRECT
about biomass energy?

IEHE Wfde 21 b) SEEN 39 Il ¥ &4

Biomass is organic. BiaT 8 ot Shfad/farsht gma
wR Sifq ofial, S e
IR Sigeft ¥ U g g
Biomass is made of
material that comes from
living/once-living
organisms, such as plants

dlrg I Udl Palm leaf

and animals.

FHoll & U ST B oM d) SEER Sof Bt off TR-
adl ged oM S AdieRui Sl Oid el 8
rf o, SCaS| 3R Hbhdtl  Biomass energy
UM Tl The most can never be a non-
common biomass renewable energy source.
materials used for energy

are plants, wood, and

waste.

et A fpR aru=mm =1 weTafra g fosar 82

Who has been appointed as the new Secretary
General by FICCI?

QA UEH  Shailesh b) 31U HHR Arun Kumar
Pathak
Sdd 8T Jayant Sinha ~ d) 3o Rig AR Ajay

Singh Parmar

qid} # Uiy I & FU | SHiRio $9 R FH
I gielt 32

How and when is oxygen produced as a waste
product in plants?

Aqd & JOT 44 GRI By b) fad & o4& gRT By
respiration during the respiration during the day
night
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31.

a)
c)

32.

a)

c)

33.

a)

c)

34.

a)

c)

35.

a)
c)

36.

AT P SR YHTY AT d) o & SR UhT=I AT
gRT By photosynthesis gRT By photosynthesis
during the night during the day

Frafafaa & 3 o9 v & G5 XIV &1 Ui 417

Who among the following was a contemporary of
Louis XIV of France?

bR Akbar
ITSE Aurangzeb

.30t g 9t TIRwart & sror fAafafea & S s gen
Ur?

B.C.Dutt's arrest led to which of the following?

Aga femT Ad X b) URA BIE! M@ Quit

Royal Indian Navy Revolt India Movement

b) XMEST8l Shah Jahan
d) &SR Babur

FDH P fA2l8  Kuki's d) SR [ASIE Bastar Revolt

Revolt

fPaa og1 "gIwA B MW BT T AHEAT B,
3TTE B X, STeTTe 1 782

Who said "dushman ki goliyon ka hum samna
karenge, azad hee rahein hain, azad hee rahenge"?

YGRRR GG b) GUW d% & Subhash

Chandrashekhar Azad Chandra Bose

W R Bhagat Singh  d) SRIBTHI M
Ashfaqullah Khan

fatyor o Samer 8-

‘Remittances’ is an example of

Ycdh AT Factor income  b) TI'@?I[ 3 National
income

RO YITdM  Transfer d) 3™ 3 Indirect

payments income

2000 ¥ gTGT A8 WIekh REPR o+ sftarn
Who won the Dadasaheb Phalke Award in 2000?

ad 3fE Dev Anand b) U ¥ Mrinal Sen
§1.3fR. TUST BR Chopra d) 3R YA Asha Bhosle

T 1 B g 1A gRfea PR sk R e T Be
¥ W F1 79 DI

BRG] T Ay
|- SETT I A i- 1964
|I- BT gad o/ | ii- 1993
I1I- AIFTE AFETUPR TERT | ii- 2005
V- RTPTT AT SanT iv- 1992

Match List | with List Il and select the answer from
the codes given below.

a)

c)

37.

a)

38.

a)

c)

39.

a)
c)

40.

Bodias ‘Year of Establishment
|- Central Information Commission i- 1964
II- Central Vigilance Commission ii- 1993

I1l- National Human Rights Commission | iii- 2005

iv- 1992
b) I-ii; H-iii; Nl-iv; IV-i;
d) 1= ; H-iii; H-iv; 1V-ii

IV- National Commission for Women
I-i; H-ii; Nl-iii; IV-iv;

I-iii; 1-i; HI-ii; 1V-iv;
Frafafea &1 e w3
a gl 1 AR

b. TR &1 @es | 2. fawd
cfgme 3 AYEH g
d.gar 4 3%

Match the following

a.River 1.Morraines

b .Sea waves | 2 Meanders

c.Glacier 3.Mushroom rocks

d Wind 4 Arches

a-3,b-4,c-1,d-2
a-2,b-4,c-1,d-3

b) a-4,b-3,c-2,d-1
d) a-4,b-2,c-1,d-3

g & o 5w =g | Space System Desing Lab T
Igure far T §2

In which state Space System Desing Lab has been
inaugurated recently?

BIRATU Haryana b) HERIY Maharashtra
T[SRId Gujarat d) 3HYH Assam
frafefeaa aﬁaﬁlaa aﬂﬁnz:

a. HAM | 1371 B fga A Wi aneE

b. TR | 2. ST R

c & |3 gurl

d. g? od | 4. UTH UUH

Match the following:

a.Senani | 1.Voluntary contribution made to king

b.Gramini | 2.Chief of Army

c.Bali 3. Priest

d.Purchita | 4 Head of village

a-2,b-4,c-1,d-3
a-2,b-4,c-3,d-1

Tfaur # Aifere Fedor wa e fHa 1w
When was the Fundamental Duty added to the
Constitution?

b) a-1,b-2,c-3,d-4
d) a-4,b-2,c-1,d-3
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a)

41.

a)
c)

42.

a)

c)

43.

a)

c)

44.

a)
c)

45.

a)

c)

46.

a)
c)

47.

1972 b) 1976
1980 d) 1984
FUTY d% 919 + agax 1943 § _ ® wifgena

Ta-Ae 3ATE Wi SfEar Y wTg=T B 4t
Subhas Chandra Bose established the Provisional
Government of Free India in October 1943 in ____

S Germany b) =9 Russia
ﬁi”'ngT Singapore d) SIUF Japan
YR & ©R SAaferq gydie e gusT A {5 sde &

TeE ASd SidT &2

India’s star javelin athlete Neeraj Chopra has won
gold medal in which event?

ges Tydfedy IfUTARMT b) BT S™¥HS WHT Doha

World Athletics Diamond League

Championship

g AfUTARY Asian d) IgHSA Qe

Championship Commonwealth Games
el Red TafaRy & YE Gl § 4§ TP gl

ﬁ;rl%rl@a T | BF-1 ﬁr«q TaT 3URGH &Y ﬂﬁ |

HRTIAT HR APl 32

Soil erosion is one of the major threats to

environment. Which of the following can help to
prevent erosion of soil?
TR a8 Contour b) fAfd TS

ploughing cultivation

Over-

TARE & W1 Cattle d) RIS & TR TP Poor
grazing irrigation practices

R F g d 3 gdRe 9wE &
giford faar

Prithviraj Chauhan was defeated in the second
battle of Tarain by .

§aR Babur b) aTR@I'FT Taimur Khan
P ecr d) eWE TR Muhammad
Qutbuddin Aibak Ghori

TEat 2023 H gWH YR fforea fimm &
ez & wu # fd fFrgaa far mar an

In January 2023, who was appointed as director of
Ayushman Bharat Digital Mission?

AT T Praveen b) @M RRA  Vikas
Sharma Purohit
RN PHR  Anurag d) gR&R Tr@al  Surinder
Kumar Chawla
SRt 2023 # g & wew um-dfie uigfafy

TG BT IguTe gl %m TRIT AT?
In January 2023, where was the world's first 'Palm-
Leaf Manuscript Museum' inaugurated?

T&F%c_vﬂ New Delhi b) HBRIY Maharashtra
Uf3H §7d West Bengal  d) &_d Kerala

Re-SR Alew Fufifad § § fra vaadfa demr
q Haflra &2

a)

c)

48.

c)

49.

a)
<)

50.

a)

c)

51.

a)
c)

52.

a)

c)

53.

Harrod-Domar model is related to which of the
following five year plan?

Ugalt U9asig AeHT First b) gEdl  Udaylg  gioe
Five Year Plan Second Five Year Plan
T duadfy dioAr d) @ dmadfm O

Third Five Year Plan Fourth Five Year Plan

TRifapaRt @ ugel Afgar g7 afaa s+

A Santhi Kumari became the first woman Chief

Secretary of
Flcd Karnataka b) ?‘Iﬁ?l‘l'l_g' Tamil Nadu
Y TR Andhra d) Q@I Telangana

Pradesh

fruafafaa & 9 59 I #) 57 ygd s A= 3
UN-2f3ee & acs &feee s@ars 2023 sfar

Jaga Mission, a 5T initiative of which of the
following state won the UN-Habitat's World Habitat

Awards 2023?
3N Odisha by A U
Pradesh

FcH Karnataka d) ToRId Gujarat

g}ﬂﬁmwmwwmmﬁﬂ%

When was panchayat raj system first introduced in
India?
1957
1963

Madhya

b) 1955
d) 1959

[ QUANTITATIVE APTITUDE ]

TP T BT TP 324/25 mm> g1 TS 3! AP
YSIT ®I 3/5 mm $H $HX 91 WG, df STHT URATT
1d BIfeTU

Area of a square is 324/25 mm?’. Find its perimeter if
its each side is decreased by 3/5 mm.

20 mm b) 16 mm
12 mm d) 8 mm

TS 9HATg YT T &%d 36V3 m? 81 3HPT e
uf¥ATy F1d Hiforel

An equilateral triangle has an area of 36\3 m’. Find
its semi perimeter.
14 m

12m

b) 18 m
d 9m

Ugd ¥ Wigpd s R fuar sifse afg 10
BlsHR 2 F TAP U | 3 WIST W1 3R 5 & YD
OIS § 4 SIST AT, df 39 UHR T o G&3f BT
e fa= gme

Consider the first ten natural numbers. If 3 is added
to each multiple of 2 except 10 and 4 is added to
each multiple of 5, then what will be the average of
the ten numbers so formed?
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a) 7.2
c) 7.1

by 7.7
d) 7.5

54. TG X =212, Y = 2.13,Z = 2.15 MR X + ¥¥ + Z23-
3XYZ = 4.48 * 10 PTAME, Nk ST A 8:
If X = 2.12, Y = 2.13, Z = 2.15 and the value of X? +
Y3 + 2% - 3XYZ = 4.48 * 10", then the value of k is:

a) -1 b) -2

c) 4 d) -3

55. AABC H YT BC TR U% fiig D 59 UPR & f&% ~ADC =
(BACRI UG CA=15cm 3R CD = 9 cm §, @ CB
(cmﬁ) =?

In AABC,D is a point on side BC such that ZADC =
¢BAC. If CA = 15 cm, and CD = 9 cm, then CB (in

cm) =?
a) 15 b) 25
c) 12 d) 10

56. fwferfad 48 91 99 2014 | 2019 T & G HU- A
3R B%ﬁ' amifea 8 are faenfiay # e #t
Tofar 1

The following bar chart shows the number of
students enrolled in two summer camps - A and B
from 2014 to 2019.

Number of Students Enrolledin Summer
Camps A and B from 2014 to 2019

280
260
&=L 240
220
200
180 180
160
140

80

2014 2015 2016 2017 2018 2019

No. of students enrolled in Summer Camps
AandB

Years

Summer Camp A
¥ 2014, 2016 3R 2017 A HT A H AHIFT 1 a@
faenfiaY 5t Tem qur af 2015, 2018 3% 2019 A Hu
B ¥ wifrd g1 9 faenfiy &Y e &1 srqura
a2
What is the ratio of the students enrolled in camp A
in 2014, 2016 and 2017 to the students enrolled in
camp B in 2015, 2018 and 2019?

a) 18:13 b) 22:15

c) 13:18 d) 15:22

Summer Camp B

57. U® PR P a8 W SHS $T Jed H 20% S
qmmmgﬁr{ 10% @1 Fe T 3| ITDT ATH

afererd F1d Hiforg
A shopkeeper marks an article at a price, 20%
higher than its cost price and allows 10% discount.
Find his gain percentage.

a) 9.5%

c) 9%

b) 8%
d) 10%

Mob. - 01141676717,9312712114

58.

a)
c)

59.

a)
c)

60.

a)

c)

61.

c)

62.

a)

c)

fafafad smpfa &, 2 v = 90° iR 2 vzw = 90° B
gfed WZ = 6 cm SR XZ = 10 cm @, @ YW 3@
Biferer
In the following figure, £ Y = 90° and 2 YZW = 90°.
If WZ = 6 cm, and XZ = 10 cm, then find YW.

' w
4V2 cm b) 6V3cm
4V6 cm d) 6v2cm

A AU ANRBITITPRE [P AR B 37 &
3R &1 afg A 3R B &1 HgwH JHUAAS (HCF) 3R
AYAH JHTIGE (LCM) HHRT: 37 3R 6919 §, af A
3R B & U & o1 o1 3R J1d BT

There are two numbers A and B such that both A
and B is greater than 37. If HCF and LCM of A and B
are 37 and 6919 respectively, then find the
difference between the value of A and B.

222 b) 232
212 d) 202

8cosA + 7secA - tan A

A
10sin>
i A = 60° B, At 2 ST A TN
?
If A = 60° then what is the value
8cosA + TsecA - tan? A
A
of 105|nE ?
5 b) 3
15 d) 10
K ®T 79 91 8, 39 UPR 5 T= 72k460k, 6 T
favrsg &2
What is the value of k such that number 72k460k is
divisible by 6?
4 b) 7
9 d) 8

THT 3HPa Jrgul HTH B 48 fet & [T H FHhdt &
9% TP AIY T SR HHT 50% B $i 20 1 &
RT R Todl g1 e Fu1 3R qeT @) drderar
BT HH: AU 3:8 B, af FuT rpd Wyl B9 B
fraa i d T o ot 2

Muskan alone can complete the whole work in 48
days while Ruma and Sima together can complete
the 50% of the work in 20 days. If the respective
ratio of efficiency of Ruma and Muskan is 3: 8, then
in how many days can Sima alone complete the
whole work?

520/11 f&71 520/11 days
600/11 f&= 600/11 days

b) 640/11 f&d 640/11 days
d) 570/11 &1 570/11 days
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63.

a)

64.

a)
c)

65.

a)
c)

66.

a)
c)

(456%° + 425%° + 448%%) % BT 3P BT UNT FTd H?
Find the sum of unit digit of (456°° + 425% +
448%y?

11 b) 19

15 d) 23

3, TJUT 3R 6 Ut PR A AT A 1 30T SR
A PI Sfd 9T BT WEfUd SIUT 5: 4 g
21,48 § 180 km W} g& 7T BRI 21 X oW ?
TWUT Y I BT U 3:4 8, @ WF 25 e &
Reat g (ke ) 8 BT

Om, Sagun, and Mantra travel by their car. The
respective ratio of average speed of Om and Mantra
is 5: 4. Sagun covers 180 km in 2%z hours. How
much distance (in km) will the Mantra cover in 25
minutes if the ratio of speed of Om and that of
Sagun is 3: 4?

18 b) 16

12 d) 10

wﬁmﬁ@ﬁﬂﬁﬂ?aﬁaﬁvﬁmmﬁmﬂ

What will be the sum of interior angles of a polygon
with 12 sides?

1600°
1760°

b) 1800°
d) 1860°

ATTIPT 2016 | 2020 dF 4 NG H TT T VST HY
T g=Iiel 31

af | d<he | sEHeETe | Q0 | Sawd
2016 | 1800 | 2500 1800 | 2000
2017 | 2500 |2300 1850 | 1800
2018 | 2300 |2400 1840|1760
2019 | 2440 | 1950 1900 | 1600
2020 | 2250 |2100 2000|1750

2017 ® GN1E 3R 2020 ¥ HIawTdl & Fd fbaq US
Y MQ?

Table shows the number of trees planted in 4 cities
from 2016 to 2020.

Years | Chandigarh | Ahmedabad | Pune | Kolkata
2016 | 1800 2500 1800 | 2000
2017 | 2500 2300 1850 | 1800
2018 | 2300 2400 1840 | 1760
2019 | 2440 1950 1900 | 1600
2020 (2250 2100 2000 [ 1750

What is the total number of trees planted in
Chandigarh in 2017 and in Kolkata in 2020?

4500 b) 4750
4250 d) 3550

67.

a)
c)

68.

a)

c)

69.

a)
c)

70.

& 7E AT O aul | IR HufaEl A, B, € 3R D gRT
BRI B B TF arelt [T @WRI /) ) i 2
arfereT &1 srera Bifere ofik i few e uy &1 IR
difsa)

HUHEY A B |[C |D

2013 45|63 | 65|67

2014 5249|6069

2015 61|60 | 66 | 67

2016 72|58(70|63

2017 52|53|63|75

2018 63|67 |76 |74

v 2018 H ST C GRT It TS BRI It A B,
v 2014 | 2018 & SR HUT A GIRT It T3 HRI Pt
3fa e & fHat oftre §2

The given table represents the sale (in thousands) of
cars by four companies A, B, C and D in six years.
Study the table and answer the question that
follows.'

Company Year |A |B |[C (D
2013 45|63 | 65|67
2014 52|49 60|69
2015 61|60 | 66|67
2016 72|58 70|63
2017 52|53 63|75
2018 63|67 | 76|74

The Total number of cars sold by company C in
2018 exceeds the average number of cars sold by
company A during 2014 to 2018 by:

15000 b) 14000
16000 d) 12000

57 & 100 % PT T T3l & foa- 9" 3Td 32
How many times '9' appears in all the prime
numbers between 57 and 100?

1 b) 2
3 d) 4
fafafaa &1 9= 39 ﬂﬂﬁl'q: cosec (60° + A) - sec

cosec 49°

(30° - A) + sec 41°

Find the value of cosec (60° + A) - sec (30° - A)
cosec 49°

+ sec41°

1 b) 0
-1 dy 2

ABCD T I91d gyl 3 Rred ysim AD iR BC 3t
qerox fag P A firamar ST @ 3R Yo DC 3R AB Ht
eI fig Q I fiemar simar 81 afdzA = 60° iR
£ABC = 72° 8, dt DPC - 2BQC =

ABCD is a cyclic quadrilateral in which sides AD and
BC are produced to meet at P, and sides DC and AB

Mob. - 01141676717,9312712114
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a)
c)

71.

a)
c)

72.

a)
c)

73.

a)
c)

74.

a)

75.

a)

c)

meet at Q when produced. If ZA = 60° and 2ABC =
72°, then «DPC - «BQC =

36° b) 30°
24° d) 40°

T® BR 50 e T 90 km Y gff 79 F<l §, A gD
a1 (m/s H) faatt 32

A car covers a distance of 90 km in 50 min. What is
its speed (in m/s)?

60 b) 90
108 d) 30
TP G # 5 faendf 3@ § o fafte SifgT ymor

HrEa 71 afe 11% faemdf smar Wwd §, 26% et
C++ WrEd §, 16% faendf uray= ¥iad § 9k 15%
faemdf pHP Wwa 7, U1 96 faenfiar 7 Bl ot
YHR BI BIST HTST 71 Wit 71 a1, W | fpaq
faemdf &

In an institute, there are some students who learn
different coding languages. If 11% of students learn
Java, 26% of students learn C++, 16% of students
learn Pythons and 15% of students learn PHP, and
96 students did not learn any coding language. How
many students are there in the institute?

300 b) 240
480 d) 200
T YoV, TP Afea 3R TF a1 TP S B A

3, 4 3R 12 3} & 1 &% AP &1 9 FH T TH
7 ¥ 1 1 & forw fraq ds@l @t U g SR
TS Afgd &1 WeTad S Afew?

A man, a woman and a boy can complete a work in
3, 4 and 12 days, respectively. How many boys must
assist one man and one woman to complete the
same work in one day?

5 b) 7
4 d) 9
A9 TP HIGSd BIF B P 25% P ATH R 991 3R B A

U C B 10% B g1fF R 39 f3an afg ¢ 7 59 forw
35,625 BT YA fHar 8, 91 A A B & e foraen 2
#) yirar fam

A sold a mobile phone to B at a gain of 25% and B
sold it to C at a loss of 10%. If C paid %5,625 for it,
how much did A pay (in ) for the phone?

5000 b) 4800

4500 d) 5100

TP HET 405 BT HHRT: 4:2:3 & U H o9 U &
Sl T g1 9y §:

A number 405 is divided into three parts in the ratio
4: 2: 3 respectively. The three parts are:

180, 90 3R 135 180, 90 b) 160, 90 3R 155 160, 90
and 135 and 155

160, 100 3R 145 160, 100 d) 200, 70 3R 135 200, 70
and 145 and 135

76.

a)

c)

77.

a)

c)

78.

a)

c)

79.

a)

c)

80.

[ ENGLISH ]

Select the most appropriate meaning of the given
idiom.

A damp squib

An event which people
think will be exciting but
which is disappointing
when it happens

b) A candidate or
competitor about whom
little is known but who
unexpectedly wins or
succeeds

Have an argument or d)
dispute

dirty and unpleasant /
morally wrong

Select the option that expresses the given sentence

in passive voice.

Do you understand what | mean?

What | mean is that b) Was what |

understood by you? understood by you?

mean d) What I mean is
understood by you?

mean

Is what |
understood by you?

Select the option that expresses the given sentence
in reported speech.

“Inspector,” she said, "do you think I'm a fool?

She asked the Inspector if b) She asked the Inspector if
he thought she was a he think her a fool.

fool.

She asked the Inspector if d) She asked the Inspector if
he thoughtshe to be a he thought she is a fool.
fool.

Select the option that can be used as a one-word
substitute for the given group of words.

A vigorous campaign for political, social, or
religious change

Indelible b) Biopsy

Crusade d) Pedantic

Select the most appropriate ANTONYM of the given
word.

SANGUINE
cheerful b) confident
upbeat d) demoralized

Select the correct synonym of the given word.

PATRONIZING
condescending b) humble

reverent d) gracious

Select the most appropriate option to fill in the
blank.

One who spends more , shall not have to spare
when he would.

than he could b) what he could

than one should d) than one have

Mob. - 01141676717,9312712114
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83.

c)

84.

c)

85.

a)
c)

86.

a)

87.

a)
c)

88.
a)
c)

Select the most appropriate option to fill in the
blank.

The punishment for many offences includes fine ____

imprisonment.
After b) And
If d) Because

Select the option that can be used as a one-word
substitute for the given group of words.
One who attends to the diseases of the eye.

Oculist b) Optician
Obstetrician d) Optimum

Parts of a sentence are given below in jumbled
order with the first part being fixed. Arrange the
parts in the correct order to form a meaningful
sentence.

The messengers found
B. friends and teaching
C. him in his house

D. talking to his

E. them some wisdom
BEDC

DECB

b) CDBE
d) DCBE

Parts of a sentence are given below in jumbled
order with the first part being fixed. Arrange the
parts in the correct order to form a meaningful
sentence.

He learned soon

B. was a quick learner with

C. could teach, because he
D. a good memory

E. all that his teacher
DEBC

DECB

b) EDCB
d) ECBD

(87 - 91)Directions: In the following passage, some
words have been deleted. Read the passage
carefully and select the most appropriate option to
fill in each blank.

So, there you go. These are the five simple things
that have truly changed my life for better. | didn't
start doing all of these in one go. Any kind of
__(A)_ takes time. Remember, start small. One
small _(B)____ at a time. Take it _ (C)___. Baby steps.
And | am sure, you'll get there too. Are there some
things that changed your _ (D)___ too? Let me

_(B_.

Select the most appropriate option for blank A.
change b) effort

work d) thing

Select the most appropriate option for blank B.
back b) forward
step d) line

89.
a)

c)

90.
a)
c)

91.

a)

92.
a)

c)

93.

a)
<)

94.

a)

95.

a)

c)

96.

c)

97.

a)

c)

98.

Select the most appropriate option for blank C.
fast b) best

worst d) slow

Select the most appropriate option for blank D.
thought b) life
sense d) lives

Select the most appropriate option for blank E.
know b) explain

introduce d) elaborate

Select the INCORRECTLY spelt word.
b) Blemish
d) Despice

Shameful
Tent

Select the option that expresses the given sentence
in active voice.
Let the contract be sent to me.

Sent me the contract. b) Send me the contract.
the d) The contract should be

sent to me.

| must be sent
contract.

Select the most appropriate meaning of the
boldened/underlined idiom.

Albert was in a fix when his car broke down in the
middle of the road.

in a difficult situation b) got help

in a good situation d) surrounded by people

Select the most appropriate meaning of the given
idiom.
Throw caution to the winds

to offend someone b) to kill someone

to take a risk d) to enjoy a party
Select the option that will improve the underlined
part of the given sentence. In case no improvement
is needed, select 'No improvement required'.

While | was doing the laundry, they start raining.
It start raining b) It started raining
d) No

required

They started raining improvement

Choose the option that would make the sentence

grammatically most correct.

Neither of the books were published in this country.

No change, the sentence b) Neither of the bookshave

is correct as is. been published in this
country.

Neither of thebook was d) Neither of the books was
published in this country. published in this country.

Select the most appropriate ANTONYM of the given
word.
VAGUELY

Mob. - 01141676717,9312712114
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a) Nearly b) Roughly

c) Rarely d) Exactly

99. The following sentence has been split into three
segments. Ildentify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

During the ride back to / River Heights, Emma
sensed that Bill / was keeping something of her.

a) River Heights, Emma b) was keeping something
sensed that Bill of her

c) During the ride back to d) No error

100. The following sentence has been split into three
segments. Identify the segment that contains a
grammatical error. If the sentence is error free,
mark 'No error' as your answer.

One of the common refrain you/ might hear at
many an Al and/ data-focused event is “data is the
new oil".

a) One of the common b) might hear at many an Al
refrain you and

c) data-focused event is d) No error
"data is the new oil"
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